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Name :

lll semester B.sc. Degree (cBcSS - oBE - Regularlsupplementary/

lmptottedent)'Examination' Novemb er 2A23
' 

(2019 to 2A22 Admissions)

GoMPLEMENTARYELEGTIVEcoURSE|NMATHEMATIGS
3C03 MAT-cs : Mathematics for cornputer science - lll

' Max' Marks : 40
Time : 3 Hours

PART _ A

Answerany4questions'Eachquestioncarrieslmark.

l.Showthaty=clxisaso|utionofthedifferentialequationxY,=_y,x*0,

2. write the general solution o{ the differential equation Y" = Y'

3. state existence and uniqueness theorem for initial value problem'

4. Find the Laplace transform f(t) = coshat'

5. Write one dimensional heat equation'
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AnsweranyTquestions.Eachquestioncarries2marks.

6. Solve the initial value problem y' = - 2xy' y(0) = 1'8'

7 " Find the particular solution of xy' + y = 0, y(4) = 6.

8. Find the general solution ol 4y" - 4y'- 3y = 0'

g. Find the Wronskian of functions y, = x3 and Y2= x2'

10. Find the Laplace transform of f (t) = eatsinwt'

ll.Stateconvo|utiontheoreminLap|acetrans{orm. P.T.O.
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solve the initial value proutem (cosysinhx + 1)'dx=- sinycoshxdy = 0, y(1) = 2'

Solve y" + 3Y' + 2Y = 12x2.

Solve by method of varialton

Find the inverse transform of
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of parameters Y" + Y = secx.

1F(S):Gil5
t

rra integral equation y(t) - 
fV(t)sin(t 

- t)dt = t '

. Findthefourierseries of thefunctionf(x) =x+tt it'-x<x< nandf(x+ 2n) =f(x)'

. Find the Fourier cosine series of f(x) - sin x, 0 < x < n' {4x3=12}
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Answer any 2questions. fach queiiiln.earr1e$ marks.

23. Find an integrating {actor and solve the initial value problem (ex+Y + yeY)dx +

(xeY-1)dY=0,Y(0)=-1"

24. Solve the.Euler cauchy equation xzy" - Sxy'+ 9y = 0'

25' solve the initial value problem y" - y'- 6y = 0' y(0) = 1'l' Y'(0) = 28 using

Laplace transform.

26. Find rhe Fourier coerricients or the runction r(x) = {-l 
.,.],;iiil,o' 
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f(x + 2a) = f(x). (2x5=10)


